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All answers must be written on the answer sheet; write answers to five questions in each
row, for example: ' '

A DA BA DA B)A

I. Questions 1 to 5. Choose the answer that best completes the sentence.
4 points for each question ’

1. Rob is one of those musicians who - every day.
(A) practice  (B) practices

2. The telephone had a dozen times before the message machine clicked on.
(A)rang (B) rung : S

3. What are chances of receiving a scholarsk ip?
(A) your (B)you’re o

4. This examination is _ “difficult.
(A)awful (B)awfully -

5. On the advice of her » , Mrs. Ranci refﬁsed to testify. .
(A) council  (B) counsel _ ,

IL. Questions 6 to 15. Read the following Iﬁassages and choose the best answer for each
question. 8 points for each question = . : L

Deaf Mr. Chalmers,

I am writing to apply for the job of Receptionist. I am 25 years old. I left'school at 18 and
studied for one year at Pitmans Secretarial College, where I got a Diploma. I worked as a
secretary in London for four years, including four months as a receptionist for a large
company. :

At the rhoment I am working as a reoeptionist at the Sands Hotel, Brighton. I have been
- there for the past six months.

I would like to work as a receptionist in-youf hotel because I enjoy hotel work and I Would
like the experience of working abroad. . * _
I enclose a photograph and my CV, and T look forward to hearing from you.

».-

| Your Sincerely

| Penny Wright

|
N\




6. What position is Penny applying for?
(A) secretary  (B) receptionist (C) hotel manager (D) assistant

7. How much experience does Penny have of office work?
(A)3 years (B)4years (C)six months (D) four and half years

8. Wheré does Penny work now? :
(A) Brighton (B) London (C) Paris (D) Pitmans Secretarial College

9. From the paSsage, we learn that the hotel Penny is applying to may be located in
(A) London (B)Brighton (C)England (D) another country

10. What is a CV'?
(A) curricula vitae (B) curricula vita (C) curriculum vitae (D) curriculum vita

Jennifer has difficulty sleeping, and she is often depressed. She has reduced her diet to two
salads a day and bas lost over thirty pounds. She weighs only eighty-two pounds and
-thinks she should lose even more weight. She has few friends and worries constantly about
her appearance. Although emaciated, she continues to restrict her intake of food.
Jennifer’s condition is diagnosed as anorexia nervosa, an eating disorder in which a person
loses one-fourth or more of her normal weight but feels fat and worries about becoming
obese. Some researchers believe that this disorder stems from our culture, which
emphasizes weight and which encourages young women to be always dieting.

11, What is the problem described in the passage? S
(A) sleep disorder (B) eating disorder (C) drinking problem (D) drug addition

12. According to the author, a person is diagnosed as anorexia nervosa if she.or he loses at
least of the body weight? .
(A) half (B) one-third (C) one-fourth (D) one-fifth

13. Anorexia nervosa affects a person’s . _
(A) physical health (B) mental health (C) social life (D) all these three aspects

14. The word ‘emaciated’ means a person is extremely

(A)ill '(B) healthy (C)fat (D) thin

15. The author suggests that anorexia nervosa is mainly caused by
(A) poor income (B) physical defects (C} cultural factors (D) mental illness
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